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QUESTION NO. 1
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(1) Laspeyre's:

2&92 « 100
2P,

Pon

%_;%% x 100 139.817

I
il

(i1) Pasasche’s:
2.Pn4x
2P.4x

P, = x 100

fggzg x 100 = 137.054

(iii) Fisher's:

| 2Pyd, Pnds
Pon = - N -Z—'_"
Zpoqo poqlq

‘\} 139.817 x 137.054

138.428

(iv) Marshall’s:
P, =

276.3 + 259.65

196.9 + 189.45 X 100 = 138.462

QUESTION NO. 4
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Sampling Distribution;

X2 f(X) ;
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(ii)
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Verification:
Hs = WU = 6
2 8
c'i. = g = 4
' QUESTION NO. 5
2 -3 5
|JA] = | K 4 6
2 0 8
_ l 6 I K 6 : K 4 ']
= | 2 0 8 "‘("'3) 2 8 + 2 0
= [2(32-0) + 3(8K - 12) + 5(0 - 8)]
[64 + 24K - 36 - 40]
= [24K-T76+64] = 0
1 .
K - 9
QUESTION NO. 6
@)  Let 1%t no. is = X
Then 2 no.is = x+1
X+x+1 = 27
. 2x+1 = 27
2x = 26
26
A X = 2
=13 , x+1 = 13+1 = 14

X
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(b) Solve the equation:

2x = 3-8x
2x+8 = 3
10x = 3
3
X T 10

|
on
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.
. 6 =at =% . @)
64 .s
2, =af =52 .. . (i1)
Dividing eq. (ii) by (i):
at 64 32 2
o = 27+ 9 — r = 3
Put r in eq. (i):
32) _ 32
’(%3) =9 = a__= _4i
QUESTION NO. 8
R = 12500
. _ 135 |
A = R+'?'-‘
A = 12,500*_21&0_

0.01125 = Rs.1123611.11
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